The Law of Sines
Now that we have seen the Law of Cosines in action, it is time to explore the Law of Sines. In order to use the Law of Sines to determine the length of a side, we must know the measure of an angle and its corresponding side plus the measure of the corresponding angle of the unknown side. To use the Law of Sines to determine the measure of an angle, we must know the measure of an angle and its corresponding side plus the length of the corresponding side of the unknown angle. In other words, we must have ASA or SSA. The Law of Sines uses ratios of the length of a side to its corresponding angle.
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To calculate the measure of an angle or the length of a side, one ratio will be the ‘known’ pair and the other will consist of the other known side or angle. 

Example 5: 

Given 
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 Solution 5:
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Once the equation has been solved for ‘c’, the calculations can be done on the calculator. 

Not all students will be able to perform this task efficiently so the first method, although more cumbersome, may be the format that many students will follow.

Example 6:  

Given 
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Solution 6:
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The answer given on the calculator for arcsin .9565 is 73.10. 

In the above example, the only measurement that was required was the measure of
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Therefore, two solutions for the angle had no bearing on the rest of the triangle. However, if we were solving the triangle, two solutions would have a direct impact on the triangle. To solve a triangle means to determine the measurements for all the sides and angles. Remember that the longest side of a triangle is opposite the largest angle.

� EMBED Equation.3  ���





Solving the equation in terms of the variable ‘c’.
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